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C <23 0> 38FH YME T JIRH Y5 SYC ST 38T w7t 01T (S0 M
E =
o =

DOWS30 18847.66 (+0.21%)
NASDAQ 523711 (+0.54%)
S&P500 216445 (-0.14%)

NIKKEI225 1737479 (+0.18%)
SHANGHAI 3196.04 (+0.78%)

FTSE100 673043 (-1.43%)
DAX30 10667.95 (+0.36%)
CAC40 1189.27 (-0.92%)
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FOIMS0E 22 2S00 HE XA Mo =X
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= 7|02 Ze{=tof Chol 1.26733H2{2 =2t of o a2 XX E 7|F
QZ/¢2f 10847 (-0.0039)
|2/ 115.77 (-0.63)
EC VA 106.73 (-0.19)
Sg|/QIot  6.8115 (+0.0230)
oRc/Shy 125971 (+0.00527)

NDF 1166.00 / 11167.00...1.25% &5
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*<TH /7> YRFET7|70PEC) 2 A=S2 YL St Sz o
<IN 24> ZEE EYZ Ol 0§38 S F7| 8Y Y Vi S22 ofF

WTI 4341 (-2.8%)
COMEXZ 122430 (-3.3%)
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AL 198443 (-0.91%)
AASE  621.89 (-0.22%)
9I/=t2| 1164.80 (+14.20)
KTB 110.00 (-0.18)
LKTB 12745 (-1.16)
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CD(91d) 1.3900% ( 0.00bp)

ly 1.4520%
3y 1.5080%

5y  1.6700%

10y 1.9380%
20y 2.0270%
30y 2.0460%
50y  2.0360%

7. BC A ADmpC

=H @ —

1Y -7.05bp
2Y  -8.50bp
3Y  -6.30bp
5Y  -14.50bp

10Y  -24.30bp

8. IRS/CRS &%

“IRS, I MASE 55

HE AE|ZY.

(+2.60bp)

(+4.30bp)

(+8.30bp)
(+11.90bp)
(+9.90bp)
(+9.60bp)
(+9.50bp)

(+0.20bp)

(+0.60bp)

(+0.95bp)
(-2.05bp)
(-3.65bp)
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1y 1.3925% (+3.00bp)
2Y 1.4050% (+4.00bp)
3y 1.4475% (+5.50bp)
5Y 1.5300% (+6.75bp)
7Y 1.6025% (+8.00bp)

10Y 1.7000% (+8.75bp)

1*2Y 125  (+1.00bp)
2*3Y 425  (+1.50bp)
2*5Y 1250  (+2.75bp)
3*5Yy 825  (+1.25bp)
5*7Y 725  (+1.25bp)
5+10Y  17.00  (+2.00bp)

*CRS =g

1y 0.9900% (-1.00bp)
2Y 0.9350% ( 0.00bp)
3Y 0.9450% (+3.00bp)
5Y 0.9850% (+6.50bp)
7Y 0.9900% (+8.50bp)

10Y 1.0000% (+8.50bp)
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A=-387| GDP(QoQ) (04 44:0.2%, 0|F1:0.2%) / GDP(YoY) (0f44:0.9%, 0|7F:0.7%)
0F e Lt(Yoy) (04:6.2%, 0|7H:6.1%)

-108 ADHEOH(YoY) (044:10.7%, O|7:10.7%)

SZRZE-9E MHMA(MOM) (0 4:-1.0%, O|F:1.6%)
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=2-327| GDP(QoQ) (04| 4+:0.3%, 0|F:0.4%) / GDP(YoY) (04| A:1.8%, 0|7:3.1%)
-11€ ZEW Z7|7|CHX|4= (0f|AH:8.9, 0|™:6.2)
&=-102 CPI(YoY) (0f| &:1.1%, O|H:1.0%)
FEE-327| GDP(QoQ) (04| 4:0.3%, 0]7:0.3%) / GDP(YoY) (0f| 4:1.6%, O|7T:1.6%)
9% B 9K (0]T:18.4B)
0|=-10¢ A 0{Eof(MoM) (0f 4H0.5%, O|7:0.6%)
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-10€ 29 AO{EO{(MoM) (0] 4+:0.4%, 0|7:0.5%)
118 75 ALO|HAHO|E HZEZX|a= (0]4:-3.00, 0[7:-6.80)
-10€ $ZE7HX|4(MoM) (0] 4:0.2%, 0|7F:0.3%)
102 = E71X|4(MoM) (0] 4+:0.4%, 0|7F:0.1%)

98 7YX 2 (MoM) (0f| 4+0.1%, O]7H:0.2%)
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[FESY2H(ECB) HISSHIH 2[2]

0|=-10g PPI(MoM) (0f| 4:0.3%, 0|7:0.3%)
-108 2 PPI(MoM) (04| 4:0.2%, 0]7:0.2%)
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E=-10E AOfiEof(MoM) (0f 4:0.5%, 0|74:0.0%) / 204 EOf(YoY) (Of| &h:5.3%, O|7H:4.1%)

SZ2Z-108 CPI(YoY) (0] A:0.5%, 0]|7:0.5%)
-108 22 CPI(YoY) (0| A:0.8%, 0|%:0.8%)
0| =-10¢

-10€ CPI(MoM) (0] 4+:0.4%, 0|7:0.3%)

-10€ 28 CPI(MoM) (0] 4+:0.2%, 0]%1:0.1%)
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Z-ZEHTFZ(YoY) (O] F:11.2%)
2-102 PPI(MoM) (i A0.1%, O|F:-0.2%)
2-102 PPI(YoY) (O] ™:-1.1%)
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